G-LIsTNo. | TH1021
— AR AR ENE

GENERAL APPLICATION (WITH OX)

EX-H-POT

ic

£n

£k

Bl :mm Unit:mm

Y—JuNo.  TRUF B | 2F (QUF| BTR [1008 R 5y 0| EE (Behs  Bal) KR [ 4R | | 2 | AUR| TR JroE s By | 70| B | il
EDPNO.  Thread Size Bc | L | & | @n | Ds |Futes| el stock | Weight | (Yen) eI NONRR DI E Grade [Tflint | €c | L | € [ n | Ds |Flutes| %) stock | weight | (Yen)
1 16698 | M 1.4X%03 4 9] - | 3 % 3| 2740) | 16743 [M12 x15 [STD+1|OH4 82029 [48 [ 85| |- | 44) 3600
7 16700 |M 1.7X0.35 EEE 3| 2480 | 16745 STD |OH4 = 44] 3220
« 16702 [M 2 x04 | o [OH1 wli2|-13] 4] 3200 16726 |12 15[, 10m5 o) | B - 44 3600
A 16704 | M 23 %04 2013 | -[3]° &, [ 3[180 [T6747 [Mi2"x1 | |oH3| |[82]29|48] 85 = 45 3990
16706 | M 2.5 X045 Ml -3 [&] 4/ 1600| | 16749 |M14 x2 | SID |OH4 88| 30 | 48 105 | - 70| 4,460
) 16708 |M 2.6 X0.45] STD |OH2 MIEE a 4[ 140] [ 16751 [M14 x15 | S [OH3| [ 88[30 [ 48 [105] || 70 4,460
¥n 16710 |\ 2 yos il il @] e EE 5 1,080] | 16755 |[M16 x2 | STD |OH4 95| 32 | 52 |125 - 101] 5980
T 16711 * [s+1[OH3 £ 5/ 12000 [ 16757 |[M16 X35 | S [OH3| [ 95[32 [52 [125] |- | [ 700 580
=] 16712 |\ 7 o0 | STD [OH2 3l e [BElp 3130 | 16761 M8 xas 100 37 | 55 |14 = 121 8210
16713 §TD+1[ OH3 B 5/ 1310] [ 16763 [M18 X15 oo 37 (55 [14 | [=| [121]8210
16714 [ 4 oy [SD[OH2 ol wlwl g| [E] 8 1,030 | 16767 |[M20 x25 105/37 [58 [15 | . | - 150110,700
?i% 16715 " [s+1[OH3 & | 8 1,150| [ 16769 [M20 X15 05|37 [s8[15 | * [=| [151]10700
L E 16718 STD |OH2 B 10[ 1,060 | 16773 [M22 X25 115| 38 | 63 |17 - 204/13,700
= 16719 |0 X9 ojons] sp| 10| 2|39 [F] [Tio[am| [THermsmaarxasy] P 04| P as[3s [es [17 ] [=| P [204]13700
A 16722 | o, |SD[OH2 al e [ 120 1,130 [ 16779 |M24 x3 120] 45 | 66 |19 - 260/17,200
16723 $TD+1| OH3 E2 13| 1260) [ 16781 [M24 X15 120[45 (66 [19 | [=| [26417.200
16728 STD |OH3 3% 19] 1670 | 16785 [M27 X3 130( 45 | 71 |20 = 332/24,400
- DOl esaons | 0|23 % =] 5 190 1%0| |Ti6787 [M27 X5 130[45 (7120 | [=| [ 3432400
] 16730 [M 8 X1 | STD |OH2 70223762 [®] 19 2060 | 16791 [M30 x3.5 | S0 [OH5| [135] 48 | 74 [23 = 435/31,100
16734 | 00" o | S0 [OH3 P = 27) 200 | 16793 |[M30 X15 | S [oH4| [135[48 |74 [23 | || [452[31,100
16735 STD+1| OH4 | = 27| 2350 | 16851 |M33 X35 [SID |[OH5| 145] 51 |77 |25 - 563/35,800
16736 | 1010 25510 | O3 slaala 7] =] 28| 200 | 16853 |[M33 x15 | S |OH4| [110[37 |47 (25 | [ = [ 424[35800
lak 16737 "2 lsD41| OH4 = 28 2350 | 16855 |M36 x4 | SD |OH5| |155| 57 | 82 |28 = 717/41,600
16738 |[M10 X1 | STD [OH3 s a4 7] [=] 28 2610| | 16857 |M36 X15 | S0 [OH4| [110[39 |49 [28 | , =] [510/41,600
16739 [ o 1 75 S0 [OHA o8 oL | mnl = 43| 2920) | 16859 |M42 x45 | STD [OH5| |175] 60 | 93 |32 — | 075/58.200
AL 16740 " [sTD+1[ OH5 e 43 3260 | 16861 [M42 X15 | SD [OH3| [120[39 [49[32 | [-| [750/58.200
7 16742 |[M12 X1.5 | STD |OH3 82020 48] 85 |- |D| 4332
BEHL YIRS - v 2 ONAESHE 6k KIZP.O65ECE &L, I Please see p.965 for length of external centre and shank square length £k and width K.
1.¥EE [F2HHRUANBROY v THBHEETYT, (P.78186) 1. The recommended TAP Limit corresponds to JIS class 2 internal thread

2. 9V IEEEDRUREERITHEDTIIHDEEA.
3. EHImAL, XK= MEP.94 ECBRTEL.

standard. (see p.781)
2.TAP Limit does not guarantee thread limit for the internal thread after tapping.
3. Cutting fluid and Paste : Please refer to p.941.

Elﬁl:l .?j U — g Parts & Supply series
PRTRZU—DKA ML HIEA!

w2 P P.943E8R/TFEL,
Please refer p.943 for the details

=
y - . — [ g
% OSG7 7V 5H907 LNEERKICF T v JWHE »»» P4
57 i | EvE | ove | mnE| o R 5540 wsA PR | 73 [onoumsas 7v | NIk [pEeaTee
T o @ | @ | @ |OW AR q | R R | B RA | g | B o sowanew 09 | AS | AR )
% Material | oy | Medum | Hoh | Al Hardered Steel Gairkess | ToolSteel | Cat | Cast | Ductde | Copper | Brass | Brass | Bromoe |Aluminum|Aluminum Magnesium| Zinc Alloy | Titanium | Mickel | Thermo | Thermo
- Cabon | Cabon | Cabon | Steel Speel Seel | b | Cat Casting Molled | Ally | My | Casting | Aoy | Aloy | Seming | Pasic
Somel Steel Steel Iron Casting | Casting Plastic
s C |ox%| ¢ 25~35] 35 ~45 |45 ~50] 50 ~60
o e N\ |ozsnlmmstinase~] S | Gme Phac | me mc| S5 | S0 | sc | Fc | Fd | | Bs | BC | PB | AL [ACADC| MC | 20
Fw S EX-H-POT | © | |

| AB.C.D=FE#E1EEM  A.B,C.D=5tandard stock item,

C=FERESTER

[I=Stocked by specific distributars. Contact us for price & availability,

627 mv—oOBBEEPIECETEL.

See p.] for explanation of icons.




